Math 251: Quiz 7 October 29, 2019

Name: Doluboms /25

25 points possible. No aids (book, calculator, etc.) are permitted. You need not simplify, but show
all work and use proper notation for full credit.

1. [4 points] Use the graph to determine all the absolute and local maximum and minimum values of
the function. If a value does not exist, write DNE.

y- occurs
value at x =
(0 2,4 °
local max (list all) 5.5 6,
local min (listall) || 3
absolute max (o 1,4 X
—1 1 2 3 4 5 6 7 8
absolute min | O -1
Note I am not considar'ng endpoiak fo e

lotal optima . But (‘AJ(I’{.G
not -h.lu.‘n.ﬂ ot f Fb"‘fs '
fx)=2x" =3x — 12x+ 1 You List tatmn.

2. [7 points] Find the absolute maximum and absolute minimum values of

on the interval [0, 3], and the x-values where they occur.

PR = 657 - by -1 . Note £70D) 15 naever undefnd, becake i+
POlQm.Dmia.(.

N o

(
00202 6-6x-1220 DC-x-220(x- 2)x+')=0

ﬁ X = 2 or K= _r, Onba X= 2 .{S 12 OZC)MG.A.‘/I

Tesk volwe s 00 = 3¢
X £ %) {(2)= 208) - 3(A~12(2) 4! -
O \ = |o~(2-2941 = 29041
L - 19 T - 19 2 5
3 -2 £(3) = 2(27) -3(9) - 12 [+ R
T2(27)-27 - 36 ¢ )
Tn7-36+41 = -8
Absolute Maximum: y = ( atx = &)
Absolute Minimum: y = - (9 atx = 2
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Math 251: Quiz 7
3. [8 points]

October 29, 2019

Consider the function f(x) shown on the graph below, on the interval [0, 2]. It has the property that
f(2) =0and f(0) = 3.

a. Fill in the blanks: The func-
tion f(x) satisfies the hypothe-
ses of the Mean Value Theo-
rem, which means that f(x) is

c. The graph of f(x) is shown be-
low. ‘Add lines to the graph | to illus-
trate what the Mean Value Theorem
says about this function. Then use the

b Ao v | 0,2
and _i{{ecentioble an (0,2)

the graph to estimate the value(s) of
¢ whose existence is predicted by the
Mean Value Theorem.

. What can we conclude about the func-
tion f(x), by the Mean Value Theo- LB
rem? (That is, state the conclusion of
the Mean Value Theorem, specified to
this function.)

Thow exists Cé (O)Z\ et N &

Y

fiey - T4 0% i NN
2-0 7 2 \
N N Y S N N N N N S \
--3 ! \&
pr 05 15 2

Estimated value(s) of ¢ (to the nearest
tenth) predicted by MVT (list all):

r=04 and =)
4. [6 points] Find the critical numbers (critical points) of the function
\ /3
g(x)=vVx2—4. = (XQ— 4}

i(x\: ‘g(xq-al)’z/s(zx\ - _ZX
e

‘6= Wwhun K= 0.
S'(@bwc‘ whon X-4=0 K=20 x:°2

-, 0, 2

Critical points: x =
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